> # Graphs of Solutions of Airy's Equation
| y"-xy=0.

[> y1:=x->1l+sum(l/product ((3*i-1)*(3*i) , i=1..k)*x*(3*k) , k=1..
infinity) ;
3k

yli=xe 1+ Z a )

I]3 3-i—1)

> plot(yl(x) ,x=-20..5,color=blue, title="Graph of yl",titlefont=
["Arial",16,Bold],size=[600,600]) ;

Graph of y1
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> y2:=x->x+sum(l/product ((3*i) * (3*i+1) ,i=1..k) *x* (3*k+1) ,k=1..
infinity) ;
x3~k+ 1

]_[31 3+ 1)

> plot(y2(x) ,x=-20..5,color=red, title="Graph of y2",titlefont=
["Arial" ,16,Bold],size=[600,600]) ;

Graph of y2
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